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03 Al 20| 1,500 1,000 500
O=2% 2 sHEEZ SFA22 20| 1,500
SEME D= 7,612,317 9,241,422 N 1,629,105
g 700,000
o=t 1,071,500
= 5,840,817




AN A4S0
HE: sEME MRS
S E=E=PIETE-T: EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= YOI eHEH 3,818,230 5,005,472 AN 1,187,242
< 981,500
s 2,836,730
SgJIg 2y 13,730 20,972 AT, 242
201 Let24dH] 6,970 15,272 A 8,302
01 At 22/l 500 1,100 A 600
OSIIUAL e 22 L ARE7Y
50,000& 500
02 =224l 6,470 14,172 ANT,702
OM=Xl g=2t8 dIIZ 1,000
OsgE8x =ZZA 5,470
202 04l 6,760 5,700 1,060
01 S LHOIYI 6,760 5,700 1,060
OsEANELEYR =& 6,760
SSIIEAIE &= 800,000 800,000 0
401 Al HI R 201 I 500,000 500,000 0
01 A& HI 500,000 500,000 0
OZXNEZelX=+ Eti=2FH| 500,000
403 MtXISHHE A0l & 300,000 300,000 0
02 S 2SOHHEAEE 2 E AL H 300,000 300,000 0
020208 =HIIBtAIE =22 HE ALY 300,000
Jl=Mgolmet(JIAHSFZHZ)(HE) 69,000 186,000 A 117,000
401 AIEHI L 20 69,000 186,000 A 117,000
01 A& HI 69,000 186,000 A 117,000
OJIAstd &z &2 d 69,000
SIS (LI BHEHIALY) 97,000 437,500 A 340,500
< 87,000
s 10,000
401 Al HI R 2018 97,000 437,500 A 340,500
< 87,000
[ia 10,000
01 A& HI 97,000 437,500 A 340,500
OEJIEHEHI ALY 97,000
< 87,000
[ia 10,000
SIS (AMZSelAEHE =) 785,000 1,730,000 A 945,000
= 628,000
i 157,000
401 Al HIZ 2018 785,000 1,730,000 A 945,000
< 628,000
s 157,000
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AN A4S0
M sEME YRS
Sl SeDlE I CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 785,000 1,727,000 A 942,000
O=&el =2Ad HESAY 785,000
= 628,000
[ia 157,000
sHIIBEH (=9 EXS THOHIIgXSA) 101,000 0 101,000
< 91,000
[ia 10,000
401 AIEHI L 2 CHYI 101,000 0 101,000
< 91,000
e 10,000
01 A& HI 101,000 0 101,000
O=2 &= THEH I LK & AL 101,000
< 91,000
s 10,000
S E =0 A ,501,500 1,501,000 500
401 AIEHIZL 2CHEI ,501,500 1,501,000 500
01 A& Hl ,500,000 1,500,000 0
OsY =& A ,500,000
03 A& S THHI 1,500 1,000 500
OsY ==& A AlZ20UH 1,500
s ANEESAY 100,000 0 100,000
401 AIEHI L 201 100,000 0 100,000
01 A& HI 100,000 0 100,000
O=&dsd &1 100,000
INSFHAXNA AN =3 HEAMS 75,000 80,000 A5,000
< 37,500
s 37,500
401 Al HI K 2018 75,000 80,000 A5,000
< 37,500
[ia 37,500
01 A& HI 75,000 80,000 A5,000
ONSHAXY ALE E=3 HEAY 75,000
< 37,500
i 37,500
Mot =22 276,000 0 276,000
< 138,000
e 138,000
401 A& HIZ 201 Y] 276,000 0 276,000
< 138,000
s 138,000
01 A& HI 276,000 0 276,000
OMoll - =S U =2 ZHI 276,000
< 138,000




2N HENED
B SEME MRS
SR =PICTE- Tt (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
| | = 138,000
S= MEsEd &y 3,654,400 3,876,300 N 221,900
hag 700,000
= 90,000
= 2,864,400
s 22| 452,300 214,300 238,000
201 Bt 13,200 13,200 0
01 At 22l ] 600 600 0
OJilizsSE4+21 24| 200,000 »3H 600
02 53294l 12,600 12,600 0
ONZS SUHAMOAAEY Sat|
4 200 *250CH x 12 12,600
206 M= Hl 35,000 30,000 5,000
01 X &2 bl 35,000 30,000 5,000
Otzs XM 7¢ 35,000
401 Al HIL 201 404,100 171,100 233,000
01 Al&HI 403,000 170,000 233,000
OJgs &EXSAt 200,000
OJI2E 08 At 35,000
OJgs sAz&e 849 168,000
03 A& 2 0HHI 1,100 1,100 0
OJI=2EAY 20Ul 1,100
I ZMEoI T (MEEHAY ) (HE) 2,202,100 3,662,000 A 1,459,900
401 Al HI L £ 0HHI 2,202,100 3,662,000 A 1,459,900
01 A& HI 2,200,100 3,660,000 A 1,459,900
OMEEAXMY ALY 2,200,100
— & =X7P MEEHIH 314,300
— MR MESHFY 314,300
—HX P MEEAIH 314,300
—&AXNF? MESHFHY 314,300
—dEXNFP MHEEHFIY 314,300
— A XP? MEEAHAAH 314,300
—HA=SXN7? HesF Y 314,300
03 A& 20HHI 2,000 2,000 0
OMESHAAMEYI ALY A& 20| 2,000
FoXA ME(ZAN(HE 1,000,000 0 1,000,000
= 700,000
& 90,000
= 210,000
401 Al HI L 2 0HHI 1,000,000 0 1,000,000
rag 700,000
== 90,000




AN ALNSH

B SEME MRS
ool SE MBEZ Fu CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

= 210,000
01 A& HI 1,000,000 1,000,000

C2X? SAIME0SAME 1,000,000

rag 700,000

< 90,000

= 210,000
48 8433 139,687 N 219,963
LA U LPIAE HHIES 122,987 99,737
101 @121l 22,987 N 263
04 JI2ZtH 22 XNEE % 22,987 N 263

OM=X |Xze 22,987

- &= 3,715

— AbA 4,511

— B 895

— & 4,770

— & 2,734

He 803

— A= 5,559
401 Al B 2 0HHI 100,000 100,000
01 A& HI 100,000 100,000

ORX Bt F& A 100,000
=clH S X &l 13,000 11,700 1,300
307 212t01 & 13,000 11,700 1,300
02 A2t AMAIEE =X 13,000 11,700 1,300

O=clH =&l 13,000
SHaf Rl 240l X2 3,700 3,700 0
201 LEt2 Y| 3,700 3,700 0
02 33249l 3,700 3,700 0

Ostal &Hl 2=I| S X228l 3,700

— &5 22D A2l 600

— A S 22T X222l 700

— O D] KX 22l 500

— &HH 2D A 22| 400

— 8O 2] 22 500

— A 24)] KX 22| 500

—HSsY A=) X 22| 500
nNsHF H 4,932,681 3,638,619 1,294,062

= 71,900

= 460,000

Dl 26,600

& 361,633
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AN A4S0
g nsdE e
Sol: DEOE AMEE CER-ED
= - 4 14
SN FH-SA(EN) - MBAY - BES e HlnE2
OCEHEE xHS &X 40,000
OWECH=3t0et ZX 50,000,000 *2H 2~ 100,000
ONEoIEE7Y ANEEX € SXNE= 40,000
Helll2Es29 HEAY 136,000 0 136,000
= 68,000
e 68,000
401 Al HIZ 201 8] 136,000 0 136,000
= 68,000
s 68,000
01 A& HI 136,000 0 136,000
—dAzSS (U302 50,000
= 25,000
s 25,000
ONeolEs+9Y e 136,000
—HYESSn (2L HA) 50,000
= 25,000
s 25,000
— =SSN (2T HA) 36,000
= 18,000
e 18,000
ECHEL OrEZI EXAY 45,000 15,000 30,000
< 13,500
s 31,500
401 A& HIZ 201 Y] 45,000 15,000 30,000
< 13,500
s 31,500
01 A& HI 45,000 15,000 30,000
O8HEE OFUEZI| EXAY
5,000,000 *9H 2 45,000
< 13,500
i 31,500
2H0lHAsS2E 43 2 2el 35,800 0 35,800
201 £B-2dH| 10,000 0 10,000
02 =224l 10,000 0 10,000
OozolAa s2d |FI 10,000
401 Al HIZ 2018 25,800 0 25,800
01 A& HI 25,800 0 25,800
O20IHA s2E &X 8,600,000 *3H 2~ 25,800
HASZE B2 AL 16,020 0 16,020
= 4,806
[ia 11,214
401 AIEHI L 2CHEI 16,020 0 16,020
< 4,806
s 11,214
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

01 A& HI

OAs2d B2 AL

1,335,000 1200 &
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16,020
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4,806
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S
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[=EmE==gn;
sHE M
sus & (&)
= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
12JEEd= 52,000 39,000 13,000
OHAl RtE2X 24X 52,000,000% =1 CH 52,000
= 3,900
[ia 48,100
s2X& 1,200,000 700,000 500,000
ras 460,000
< 80,000
[ia 660,000
301 LEtEA S 300,000 150,000 150,000
as 60,000
e 240,000
12 JIE24 3 300,000 150,000 150,000
OH=ZSEAl X& 300,000
s 60,000
s 240,000
307 gl2tol & 900,000 550,000 350,000
s 400,000
< 80,000
s 420,000
02 It M AHE X 900,000 550,000 350,000
odg=s32HAa N& 900,000
s 400,000
< 80,000
s 420,000
AXHBAAE(BIS) 2Y 19,100 21,100 A2,000
308 XXM SOIA 19,100 21,100 A2,000
10 B2 SUUeBAHAE A 19,100 21,100 A 2,000
OHAEBAIAE(BIS) KA E2HI 19,100
Sus I 83,091 54,677 28,414
101 @124l 31,521 3,574 27,947
04012t Z22HEE = 31,521 3,574 27,947
O=EH0Olg s3zel JI2HI2ZX ALY 31,521
—Jles 68,8002 x160 2 H 22,016
T4 68,8003 32 x2H 4,404
—Qx=g 68,8003 x8& »2H 1,101
— 28z 250,000& x8& 2 4,000
201 L2 | 34,120 34,103 17
01 At 22l 31,720 28,400 3,320
OEAlOIE 23&= 50,000 «32CH <12 19,200
OEAOIE Z2EEE B2 M
160,000& »32CH 5,120
O=EHOlE RX22(ARE S) 5,000
O38H0OIE &= 150,000& 200 A +8& 2,400
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s
SHH MA
snsE N )
= - 4 14
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
02 B=2=24%¢Hd 2,400 5,703 A 3,303
O2&8HD0 150, 000& *2JH A 8 & 2,400
308 MXISHHMSOIA 17,000 0 17,000
07 AFXI Sl 2 17,000 0 17,000
OsHE HA (&= T 2F) 17,000
403 XHXI S HIS X 450 0 450
02 BJ12S00 & AR HI 450 0 450
O PNE=- 8 29| 450
teExZ2 XA 627,000 627,000 0
307 2iz2to| A 627,000 627,000 0
09 2 HE 627,000 627,000 0
OKIIEX 627,000
— 24 108& x21,8864 *x12& 52,002
— o= 346 x138,486.94 ~12& 574,998
HEHAXA , 116,392 1,054,542 61,850
307 giztol A , 116,392 1,054,542 61,850
09 2LHHEXZ ;116,392 1,054,542 61,850
OHX - HI49 =i a2y 748,628
O =2 =484 305,914
O=sHHEHA 2H XA
123,700,000 = 1CH *50% 61,850
XS XEHOIE OLE AALS 250,000 0 250,000
= 100,000
= 150,000
402 SI2F X201 & 250,000 0 250,000
& 100,000
= 150,000
02 QIZ2t X2 A He) 250,000 0 250,000
OZ&AHE 0| THE ALY 250,000
= 100,000
= 150,000
A EE 18,860 6,860 12,000
&< 1,800
= 17,060
EENEE 6,860 6,860 0
307 giztol A 6,860 6,860 0
02 212+ &AL 6,860 6,860 0
O =44 0f [f 4,560
orgsd 2,300
AN 2H JBte X & 12,000 0 12,000
& 1,800
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EX: A4 ns
MM NESHH WA
Sl DSEMEY CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o 10,200
301 et A= 12,000 0 12,000
< 1,800
= 10,200
12 JIEtE2 Al = 12,000 0 12,000
OCIHEIEXNK(Z=IOIEY 6,000 &)
200,000 x60H 12,000
= 1,800
= 10,200
PANE HOX S 110,400 49,500 60,900
< 73,600
= 36,800
ssteA NRAY 110,400 49,500 60,900
= 73,600
= 36,800
301 et A= 110,400 49,500 60,900
= 73,600
= 36,800
12 JIEtE2 A= 110,400 49,500 60,900
OSsSHeH Al KIS AFS 110,400
= 73,600
= 36,800
HMSHAY (HEDNEY) 43,356 43,176 180
ol =2dH| 6,100 6,100 0
ol AY| 2,000 2,000 0
101 121 H] 2,000 2,000 0
03 RIAHL*ZZXHE = 2,000 2,000 0
OEXNEAYR =X 1,000
OJI2s |22 ol 1,000
CZaed 24| 4,100 4,100 0
101 e1214| 4,100 4,100 0
03 RIHEZZXHE = 4,100 4,100 0
OE2 X2 oyl 2,000
Oz 22|d L= 2,100
— I =4 150,000 »7H 1,050
— OtAM 3t 150,000 ~7H 1,050
Jle&ddl 37,256 37,076 180
Jl2 &4l 37,256 37,076 180
201 2Et24Hy| 20,096 20,096 0
01 AP 22| d| 19,236 19,236 0
onlgexxsz 600,000& x4 | 2,400
O=2AEX 22,900 »208 A x 122 5,496

_24_




<

n0

Kio

Hl w

180

H3r
Wikd
RIS

860

12,000
12,000

4,980
4,980

Off &t 24

9,240
1,500

600
860
500

360
12,000
12,000
12,000

5,160

128

2%

=)

770,000

o
00
oF

128

2%

50,000

i

ol

<+
RO

30
0H
0]
Ho

OAM2d FH

o o

<

o <
e

Qwo

<J
<+

i

R0
H

00
n0
Hr

01 =LHOIHI

202 Oddl

= L{ 04 b

80

N2

I+

Kl
Kt
ok
ol

180

5,160
5,160

128
— 25 —

2l *

=

430,000




